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Note:- This paper is of Forty (40) marks containing 

three(03) Section A, B and C. Learners are 
required to attempt the questions contained 
in these Sections according to the detailed 
instructions given therein. 

 
Section-A[k.M&¼d½ 

(Long Answer Type Question) 
nh?kZ mÙkjh; iz'u 

Note:- Section ‘A’ contains four (04) long-answer-

type questions of Nine and Half (9½) marks 

each. Learners are required to answer any 

two (02) questions only.  (2×9½=19) 
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uksV%&[k.M ^d* esa pkj ¼04½ nh?kZ mÙkjh; iz'u fn;s x;s gSaA 

izR;sd iz'u ds fy, lk<+s ukS ¼9½½ vad fu/kkZfjr gSaA 

f'k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz'uksa ds mÙkj 

nsus gSaA 

 
1. Describe the structure and Functions of 

different components of Nucleus. 
 dsUnzd ds fofHkUu vo;oksa dh lajpuk ,oa dk;ksZ dk 

o.kZu dhft,A 

 
2. What are euploidy and aneuploidy? Discuss 

these with suitable examples.  
 Lkxqf.krk ,oa vlqxqf.krk D;k gS\ mnkgj.k lfgr 

budk o.kZu dhft,A 

 
3. Discuss structure chemical composition and 

functions of plasma membrane   
 IykTek f>Yyh dh jpuk] jklk;fud laxBu ,oa 

dk;ks± dk o.kZu dhft,A 

 
4. Describe the structure of the chromosome. 

Describe different chromosomal alteration on 

the basis of chromosome number. 



3 
S-55/BO-06                                                                     P.T.O. 
 

 Xkq.klw= dh ljapuk crkb,A xq.klw=ksa dh la[;k esa 

ifjorZu ds vk/kkj ij fofHkUu voLFkkvksa dk o.kZu 

dhft,A 

  
Section-B/[k.M&¼[k½ 

(Short Answer Type Question) 

y?kq mÙkjh; okys iz'u 

Note:- Section ‘B’ contains eight (08) short answer 

type questions of Four (04) marks each. 

Learners are required to answer any four 

(04) questions only.      (4×4=16) 

 

uksV%& [k.M ^[k* esa vkB ¼08½ y?kq mÙkjksa okys iz'u fn;s x;s 

gSaA izR;sd iz'u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f'k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz'uksa ds mÙkj 

nsus gSaA 

 

1. What is plasmid? Explain. 
 IykfTeM D;k gS \ le>kb,A 

 
2. What is cell cycle? Explain. 
 dksf”kdk pØ D;k gS \ le>kb,A 
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3. Describe spontaneous Mutation and Induced 
Mutation. 

 Lor% mRifjorZu ,oa izsfjr mRifjorZUk dk o.kZu 

dhft,A 

 

4. What do you understand by plant breeding? 
Explan. 
Ikni vfHktuu ls vki D;k le>rs gaS \le>kb,A 

 

5. Describe the complementary Factors and 
supplementary factors.  

 Ikwjd dkjd ,oa lEiwjd dkjd dk o.kZu dhft,A 

 

6. What is Genetic code? Explain. 
 tsusfVd dksM D;k gS \ le>kb,A+ 

 

7. Describe the structure and Function of Golgi 
body. 

 xksYth ckWaMh dh lajpuk ,oa dk;ks± dk o.kZUk dhft,A 

 

8. Write about the mitosis.   
 Lkelw=h foHkktu ds ckjs esa fyf[k,A 
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Section-C¼[k.M&x½ 

(Objective Type Questions) 

oLrqfu"B iz'u 

Note:- Section ‘C’ contains ten (10) objective type 

questions of Half (½) marks each. All the 

questions of this section are compulsory. 

      (10×½=05) 

 

uksV%& [k.M ^x* esa nl ¼10½ oLrqfu"B iz'u fn;s x;s gSa] 

izR;sd iz'u ds fy, vk/kk ½ vad fu/kkZfjr gSaA bl 

[k.M ds lHkh iz'u vfuok;Z gSaA 

 

Fill in the blanks:- 

[kkyh LFkku Hkfj; %& 

 

1. Crossing over occurs in………Stage of 

Meiosis  

 ØkWaflax vksoj v/kZlw=h foHkktu dh-----------------voLFkk 

eas gksrk gSA 
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2. The Father of green Revolution in India 

is………. 

 Hkkjr eas gfjr ØkfUr ds tud-------------------gSaA 

  

3. Forest Research Institue is Situated 

in………. 
 ou vuqla/kku LakLFkku---------------------eas vofLFkr gSA 

 

4. Nucleolus found in………………… 
 dsfUnzdk--------esa ik;k tkrk gSA 

 

5. Centriole occurs in…………………..  
 Rkkjd dsUnz ik;k tkrk gSa---------------- 

 

6. Cell theory was proposed by ………………. 
 dksf”kdk fl}kUr izfrikfnr fd;k----------------  

 

7. The genotypic ratio in monohybrid cross 
is……. 

 ,d ladj ladj.k esa thuksVkbfid vuqikr gksrk gS--- 

 

 

8. Ttxtt type of cross will be called……. 
 Ttxtt rjg dk Økl dgyk;sxk---------- 
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9. Synapsis occurs in……stage of meiosis  
 fluSfIll&v/kZlw=h foHkktu dh--------voLFkk esa gksrh 

gSA 

 

10. The Function of Ribosomes is………… 
 jkbckslksEl dk dk;Z gS------------------------- 

 

 
 

***** 
 

 


